Field Reverse

To reverse the direction of the seat on the lift begin by removing the 1”  You Will Need:

jam nylock nut from the chair cradle. Then remove the 3/8” shoulder :ﬁ':ﬁt:m wgimg:
bolt, flange bushing, sleeve bushing, flat washer and nylock nut the < 1/2”WRENCH
connects the chair cradle assembly to the control arm. Next, remove « 1-1/2"WRENCH

the 1/4” button-head bolt and flat washer connecting the control arm to

the base of the lift. The chair cradle assembly and control arm can now both be slid freely away
from the lift and “flipped” to the opposite side. Also, remove the 3/8” shoulder bolt, 5/16” flat
washer and nylock nut connecting the actuator head to the base of the lift. With the hardware
removed, rotate the head of the actuator 180 degrees and then reinstall the hardware. Replace
all components and hardware in the reverse order of how it was uninstalled.

E" JAM NYLOCK

5/16" NYLOCK FLANGE BUSHING

5/16" FLAT WASHER 3/8" SHOULDER BOLT
SLEEVE BUSHING/

CHAIR CRADLE ASSEMBLY

5/16" NYLOCK

5/16" FLAT
WASHER

3/8" SHOULDER

BOLT\\

STANDARD

1/4" BUTTON-HEAD BOLT
1/4" LOCK WASHER
1/4" FLAT WASHER

il%.IAM NYLOCK
4 REVERSE

5/16" NYLOCK
5/16" FLAT WASHER

FLANGE BUSHING SLEEVE BUSHING
3/8" SHOULDER BOLT o

CHAIR CRADLE

ASSEMBLY
3/8" SHOULDER
' BOLT
CONTROL | 15/1 6" NYLOCK
ARM
, 5/16" FLAT
WASHER

1/4" BUTTON-HEAD BOLT
1/4" LOCK WASHER

1/4" FLAT WASHER 12

Copyright © 2021 Aqua Creek Products All Rights Reserved Revised 5/28/21



